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Questions

Concentration is process of:

Chalco-Pyrite is an ore of:

the chemical formula of chalcopyrite is:

Concentration of copper are is carried out by process.

Which one of the following organic compound is found is gasoline?

The nitrogen present in urea is used by plants to synthesize.

Which one of the following is not a fraction of petroleum?

Which one of the following is not faction of crude oil.

Which one of the following is used as jet fuel.

When crude oil is heated in the fractionating tower:

Crude oil is heated to the fractionating furnace upto.

When NaHCOg3 is heated it forms.

Answers Choice

. Mixting technique
. Separating technique
. Boiling technique
. Cooling techique

. Copper

. Silver

. Iron

. Aluminium

. Cu<sub>2</sub>S

. CuFe<sub>2</sub>S
. CuS

. FeS

. Roasting

. Forth floatation

. Gravity sepration

. Electrostatic separation

A

B

C

D

A

B

C

D

A

B

C

D

A

B

C

D

A. C<sub>2</sub>H<sub>4</sub>
B. C<sub>3</sub>H<sub>8</sub>
C. C<sub>7</sub>H<sub>10</sub>
D. C<sub>12</sub>H<sub>26</sub>
A
B
C
D
A
B
C
D
A
B
C
D
A
B
C

. Sugar

. Proteins
. Fats

. DNA

. Kerosene oil
. Diesel oil

. Alcohol

. Petrol

. Paraffin wax
Asphalt
Fuel oil
Petroleum coke

Lubricating oil
Fuel oil
. Diesel oil

. Kerosene oil

O

A. Vapour of higher boiling point
fraction condense first in the lower
part of the tower.

B. Vapours of lower boiling point
fraction condense first in the lower
part of tower.

C. Vapour of higher boiling point
condense lather in the upper part of
tower.

D. Vapours of higher boiling point
never condense.

A. 300 <sup>o</sup>C
B. 350<sup>o</sup>C
C. 400<sup>o</sup>C
D. 450<sup>o</sup>C

A. CO<sub>2</sub>

B. Ca(OH)<sub>2</sub>
C. CaCO<sub>3</sub>
D. CaO



